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. P = : P.v of R,
i=l
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?I w.B(. a&n4 -kd

2533 5 I

2490 9 18

0 1 2 3
t 8 8

x x+1 x + 2 x + 3 . . .

01q 43 44 45 46 . .

W.BI. 2533 2534 2535 2536 . .

IN 405 6 1



LLeswllwvo9 a,

0 I 1 1 1 . . .

1 I

x+1

i . x+2

x+3 x+4

a,

1
I

i
a,

Ile4wllWV89 ii,

1 1 1 1 . . .
I I 0I

x+1 x+2 x+3 x+4 . . .

(b3iLSin i i ,  ,,, dl  n-year temporary life annuity due LLAZdlUh  a-double-dot-x-

angle-n)

WWs)lW'u89  a,.,

1 1 1 1 1. . .
k I

i

x+1 x+2 x+3 . . . x + n -  1 x+n

a, . . F,
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66w6f6lwYos ii, ,,,

I I 1 1 . . . 1
1 I ,I

i:

x+1 x + 2 x+3 ... x+n-1 x+ll

1 1 1

6 I I I I I ,

x x+1 x + 2 x + 3  ... x+n-I x+n x+n+l  x+n+2 x+n+3 .

f

1 1 I 1 .
I I ,

x x+6 x + 2 x + 3  x+n-6 x+n x + n + l  x+n+2 x+n+3 .

IN 405 6 3



x x+1 x+2  .  x + n - 1 x + n x+n+l x+n+2 ,.. x + n + m - 1  x + n + m

1

X x+1 x i 2 X + 3  ... x + n - 1  x + n  x + n + l  x+n+2 x+n+3...  x+n+m-1  x + n + m
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w-x-l
a, = C tE,

t=1

w-x-l

a, = C 3%
I=0

N,
D,

a,: “I = ;: ,E,
I=1

N Xl, - NX’“fI=
DX

n--l
2,: i, = C ,E,

t=o

w-x-l
.,a,  = C ,Ex

t=n+1

w-x-i
“/ax  = C A

t=”

N\+n=-

D,
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n+m  I

,,,,A  = C ,Ex
i = I,

N\+,i -N \+,,+lll-IYz
DY

= \‘I+~+\rl+,,,+D,,ID D,  D

D, D, D, D,

D,,,  + D,+? + D,+> + + Dw,=

D,

N \f I

D\

2.

1 1 1 1 . . . 1

c I I I I II

i

x+1 x+2 x+3 . . . W - l w

a,
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:_  8, = ()E,  + ,E, +,E,+,E,+  . +,.,E,

DW,= !$+++Dd’“‘++...+-

x x x x DX

N,
4

3 .

1 1 1 1 1 1

I I 1 I r I I1
x x+1 x+2 x+3 x+4 . . . x + n - 1 x + n

Fax:“,

a,: h, = ,E,+,E,+,E,+,E,+...+._,E,+,,E,

D,+,  + Dxrz  + Dx+j  + . . . + Q+,-, + D,+,=
Q

4.

1 1 1 1 I 1

I L I I I 8
X x+1 x+2 x+3 x+4 . . x+n-I x + n

ii,:.  = oE,+,E,+zE,+,E,+qE,+...+.-,E,. .

= D,fD,+,+Dx+~+Dx+3f...+D~+n-,

DX
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x x+1 x + 2  x + n - 1  x + n x + n + l x+n+2 . W - l w

t
“/ax

“/an  = ,,+,E,+o+ZEn+nb,Ex+...+w-,E,.

D X+n+, + JA+,+,  + + Q-I=
DY

N If”.  I=-
D,

6 .
1 1 1 1 . . . 1

c 1 I t I I I I I I I

X x+1 xi2 x+3...x+n-1  x + n  x+n+l  x+n+2x+n+3...  w - l W

T,
dax

. . “/ax = nE,+,,+,E,+n+zEx+n+~E,+...+w-,E,

= D,+,  + D,+,+,  + Dx+n+Z  + . . . + D,.,
D,

7 .

1 1 1 . . . 1 I
I I 1 I I I I t I

X x+1 x + 2  ..f x + n  x+n+l x+n+2 x+n+3  . . . x+n+m-1  x+n+m

.. . “,,,,ax  = ..,E,  + n+zEr  + “+,Ex  + . . . + n+m-IEx  + nr,E,

D= x+n+, + Dx+n+z  + Dx+n+j  + . . . + D,+,+,-,  + D,+,+,
DX

N XI”&  I= - Nx+n+mr,

DX
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8.

I 1 1 1 . . . 1

1 I I r I I II
x :<+ I x+2 . xfn  x+n+l X+n+2 x+n+3 x+n+m-1  x+n+m

f
hax

,,,a, =  a,-  a ,  “,

i%poa”

1. a, = ,,E,+,E,+,E,+,E,+...+,.,_,E,

= ,E,+(,E,+,E,+,E,+...+,.,.,E,)

= l+a,

2. ..'  8, ,,, = oE,+IE,+zE,+...+.-,E,

= oE,+(,E,+zE,+?E,+...+.-IEl)

= 1 +a, :“.,I

3. ,,A = nE~+o+,E,+,,+zE,+,,+iE,+...+,.,E,

bla: ,,/a, = n+,Er+,~rzE,+nr3EI+...+.-,E,

,,-,,a,  = nE,  + ,,+I& + ,,+A + ,,+,E,  + . + ,.,E,

,,A, = n-l/ar
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ndx  = ,,E,+..,E,+..,E,+...+.+,,-,E,

= n-l/mav

"/ax  = .+,E,+..zE,+.+,E,+...+,-,E,

= ,E,+zE,+,E,+...+,.,E,-(,E,+zE,+zE,+...+nE,)

= ax-a,-  “ ,
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(2)

10,000 10,000 10,000 ... 10,000

I II I
30 31 32 33 . . . 45 46
t

= 10,oW,E~o  f&o +&JO  +  . . . +  IAO)

=  ,oooo  Dj,+h+h+...+Da

’ (
D30

1

(
NJ,  -NM= 10,ooo

D30 1
= 95,073.52

(3)
10,ooo 10,ooo 10,000 10,000 . 10,000 10,000

t I I I I L I I

= 64,254.12
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= 10,009,,,,,.~+  10,NIO(N50-N7~)+S0  &
ho  ’ ho

(h-h%  S-double dot-x-angle-n)
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= N, ~ Nx+,,
D Xfll
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1 n-l

A\.,I,  = - c c,+,
Dx,=,
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I.

f,  d, d x+  I d ,
+- ‘+- !

d \‘I . . .

x x+l x+2 X+3 x+11-  1 XiIl

,#l /l /+I  ..’ 7’ 7’

M,

Q
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= ,00,mW3c~ - MC)
DN

= 3.215.26 IJIW
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94 0

ami
10,000 10,OOO 10,OOO . . . 10,000

I-i I I I I

4 0 4 1 ... 5 9 6 0 6 1 6 2 . . . 6 9 7 0

- (w = 2OO,OOO)-.--+ t---  -xc+l-__3

t

\~~~%r~~3?rn~Fsa~uaqw~  = 200,000A4,,  :~a+ 10,00020,,oii,o

= 200,0000440  - Mm)  + 1o OOOWm  - N,o)
D40 D40

= 16,717.80+  18,244.23  LIIM

= 34,962.03  'UIW

1 . C, = vD,-D,,

2. A ,  =  vi,-aa,  =  l-d&

3. A,:-,, = 1 -da,  n,

4. A , : , ,  =  1-.E,-db,:,

1.  .: (1,  = ex-c+,
‘y’+‘.d,  = “x+‘p,-““+‘.e,+,

c, = m-D,+,

2. mn (3.4)

C,  = vD,-D,+,

:, C,,,  = v.D,+, - II,+,+,

. . . . . . . . (3.4)

w--x-l w-x- I w-x-l
c c,,, = v. C I&+,-  c IA+,+,

t=o t=o f=0
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M, = v.N,-N,,, ( 3 . 5 )

I%= v.N,  N,,,.
0, D, D,
A, = v.ti,-a,

= vi,-(ii-l)

= I-d&

3. mn (3.5)

M,  = vN,-N,,,

M Y+” = vN,+, - N,+,,+,

M,  -I%+,,  + Dx+n. = v.(N,-  N,+d  (&+I  - kn+,) D
DX D,  - J?,

+-‘”
D,

= va, nl-ax  m+.Ex

= vi,  -“,- (a,.  “I~ 1 + .EJ + ,,E,

’ A,: ,,, = I -da,  ,,/.

4. Pin (3.5)

Mx - Mx+n = v.UY-N+n)  N+,-Nx+n+,)
DX Q - D,

= v+- a, ,,#

= vB,:~,-(B,  ,,,pl+.E,)

= 1 -d&,,-,,E,

8 2
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W-X-I
= c (t + l)D,+,

t=0

(Da), ~“, = nN,+,  - (“;+2  - L+d
*

(D&ii = nN, - (S,+,  - S,+,+J
DX

&p.i

1 .
1 2 3 4 . . .

I I I I 8

X X+1 x+2 x+3 xi4 .
t

(Ia). = l.,E,+2.,E,+3.,Ex+...

w - x - l
=’ c t.,E,

t=0

= ~“-~-‘t.Dx.,
x t-0

84

= +” -‘- ‘(t + l)(D(x+,)+t
x t=o

S=x*l
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( I i ) ,  =  1.,E,+2.,E,+3.,EX+..

W-W-1

= t:o (t+l)  E1.  x

1 2 3 II- 1.

I
I I I :

x x+1 x+2 x+3 . . . x+-n-l x+n

f)

(la),,n, = 1.,E,+2.,E,+3.,E,+...n.,EX

= 2 t.,E,
t=1

= +flt.Dx+,

..” f t.D,+, = D,,: + 2D,+*  + 3D,+, + . . + nD,+,,
[=I

= N,+,+N,+,+N,+,+...+N,+,-n.N,,,+,

= S,,, -S,+,,, - n.N,+,,,

. (Ia)x,n,  _ S,+,  - Gng - n.Nx+,,+I
x

n - l
(Iii),, n, = c (t  + l),E,

t=o

” .--  1
‘: &Ct  + lPx+, = D,+2.D,+1+3.D,+2+...+n.D,+,.,

= N, + N,,  , + Nh+*  + N,,,  + + N,,,,.,  -- nN,+,

= S,  - S,+,, - nNxIn

(rq,:,.,  =  Sx-Sx+L-nNx+n
. .

x
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4.

n n - l n - 2 . 2 1

I I I I I r

x x+1 x+2 x+3 . x + n - 1 x + n

T

(W,,m  = n.,E,+(n-l),E,+(n-3),E,+...+l..E,

= f,(n+  1 -W,

= & t (n+ 1 - t)D,+,
XL I

.: n f D,+, = n(D,+,  + Dx+Z  + . + D,+,)
t=1

= n(N,+,  -N,+,+,)

f D,,,  = Nx+, - Nx+,+,
l=l

i t.D,,,  = S,+,  -S,+,,+,  -n.N,+,+,
t-1

(Da),  ,,, =. $ n(N,+, -N,+“+,)+ (NY+,  -N,+,+,).  - (S,,,  -S,+,,+,  - n.N,+,+,)
v i 1

n.N,+,  - (&+z  -- Sx+n+Z)
D,

5 . (Di),.e, = n.,E,+(n-l).,E,+(n-2).,E,+...+I..-,E,

n-1
= ,g;n-T!.L

n-1 n-l
= c n.,E,-  c t.,E,

I=0 I=0
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“&.D,+,  =  D*+, t 2D,,, + 3D,+,  TV  t (n - l).D,+,,-,
I 0

= N,+> t N,+,+ N,,J + . + N,,,,.,  -(n - l)N ,‘,,

= N,+i  -t N,+z  TV  N,,,  + i-  NY+,,-,  + N,,,,  ~ nN ,*,,

(IA),  = 2
\

W4),  0
R,  - Rx+,, - 11’ M,+,,_

0,

(DA),  ,I,  =
n’M,-(R,+,-R,+:,+,)

D,

1. (IA), = &(C,  + 2C,+,  i- ?C,+,  i + (w - x)C,,.,)
\

R ,
D,

2 .

I 2 3 4 .
I I I I L
x X+1 x t2 x+3 x-tn-1 x+Il
t
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(IA),  :ii = --+ +2C,+,  +3C,+*  + . . . + nCx+n-J
x

= &(MX  + M,+,  + M,+z + M,,? + + M,,.., - nM,J
x

R,  - Rx+,  - nMxrn=
DX

3.

n n - l n - 2 . 1

t
t I II I, L

x x+1 x+2 x+3 xfn-  1 xfn

t

(DA), :ni = &(nC,  + (n - l)C,+,  + (n - 2)C,+*  + . . . + C,,..,)
x

= $
i
n(C,+C,,  +CX+2 +...+C,+,_,)-(C,,+2C,+,+3CX,,+...+(n-l)C,+,-,) ‘I

x )

= $ n(M,  - M,+,) - (M,,,  + M,+>  f M,,, + + M,,,., - (n - l)M,,,)
x I

= $ n(M,-M,+,)-(RX+,-RX+,+,-nM,+,)
x I I

= nM,-CR,+,-Rx+,+,)
DX

10,ooo 11,000 12,cXKl . . . 39,000 40,oGo 40,ooo 40,000

t I 8 I I I 8 I I

30 31 32 33 ... 59 60 61 62 63 . . .

0 1 2 3 . . . 29 30 31 32 33
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b-3641 0 1 2 3 . . . 29 30 31 32 33

Ell$l 30 31 32 33 . . . 59 60 61 62 63

ualJa~hl6 0 10,000 11,000 12,000 . 38,000 39,000 40,000 40,000 40,000

nishmx

+ 10,000N,, - 1 0 , 0 0 0  10,ooo  1 0 , 0 0 0 10,000 10,000 10,000 10,000 10,000

+ 1 ,ooos,;! - 1,000 2,000 . 28,ooO 29,000 30,000 31,000 32,000

- 1 ,ooos,: 1,000 2,000

mLMs80 0 10,ooo  11,ooo  12,GoO 38,000 39,000 40,000 40,OO 40,000

b~upla-,~~~^a~a~~adplagwS = $(lO.OOON,,  ,O@&+ I - 1 ,OOOS,,)

= 313,321.75  ¶J-Wl

100,ooo 120,000 140,000 160,ooo  180,000 200,000 200,000 200,000 200,000 200,OOa

1 1 I I -t-

40 41 42 43 44 45 46 47 48 49 SO
1 2 3 .4 5 6 1 8 9 10

IN 405 8 9



nsam55GXi I 2 3 4 5 6 1 8 9 IO II

01: 40 41 42 43 44 45 46 47 48 49 50

waLl5~hsd loO,CnXl 120,OCCl 140,COO  16O.ooO  180,OW 2C0,OOO  200,ooO  200$00  ZW,KM  2lXl,oO 200,000

ni5fhxu

+IOO.OOOM,, loo,coo  loo,ooo  lOO.OfKI 100,m lM),ooo  lca,ca IN,000 lOo.rn loo,ooo  loO,Om 100,m

+20,OOOR,, 20,COO  40,000 60,lWO  80,ooO  loO,ooO  120,ooO  140,COO  160,OOil 180,000 2CO,ooO

-2O,&lOR,, 20,MXI 40,OlXl 60,000 80,ooO 100,000

- 200.000Mw

nsLwTo

loo,cGa  120,cca  140,lm 160,ooo  180,mo 2Oa,m  2co.ooo  2rKwoO  200,coo  200,ooo  200,m

i&4

sl

= 6,435.11 LIIW
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3 0 100,000 4 0 200,000 4 5 7 0

t+- n-b&Gu%^am e +nsfh&oa ,-
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w-x-l
. a, = c vtrpx

t=l

a, = v.p,+v2.Zpx.a,+,

a;a,+, ‘ak+2...ax+o
,,/ar  = ,.

a,+  I .a,+,  .an+3.  ..an+”

a,+, (l+i)a,_
PX

a, = e, 61 i = 0

ii*,, = 25.85232

22, = 25.64379

a,* = 25.42964

P 22 = 9,630,039

bbx i = 3%

ilsthuamHl  P*o LLA”  P,,

IN 4 0 5 9 3



94 IN 405



MHJTlS=f0¶JPl”aitl  3 . 4

17. &p-i

n. Ax = v(q,+px.&+,)

ll.

$3. P;a, =  i’,,, .A,,!  +Px+2~A,+2  + .  +&,.A,.,

9. A, = A, .Tii+nEr.Axfn:hl+zilEx.A~-  T+...

“u.
1 - ia,. 1.1 = r”lx - Mx+t + Q+,

l + i DX
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